M-6-5-1_Central Tendency Review and KEY


Measures of Central Tendency Review

Part 1: Decide which would be the best measure of central tendency to represent the data and be ready to defend your answer.

Sales of Formal Dresses 

	Size
	4
	6
	8
	10
	12
	14
	16

	# sold
	2
	10
	13
	18
	8
	9
	3


1.  The best measure of central tendency to determine which dress size the owner needs to be sure to keep in stock at the store is _______________.

Salaries of Professional Sports Players
	Player
	Salary

	Player A
	$5,000,000

	Player B
	$4,850,000

	Player C
	$439,000

	Player D
	$425,000

	Player E
	$400,000


2. The best measure of central tendency to determine the average salary of these 6 players from the perspective of the players’ agents would be ________________.

Part 2:  Students rated the book they read as a class on a scale of 1 to 10, with 

1 being the lowest and 10 being the highest. 
	Student
	Book Rating

	Anne
	3

	Bob
	4

	Carol
	5

	Dan
	7

	Emily
	8

	Frank
	8


Calculate the measures of central tendency and decide which measure of central tendency best describes the data set. Use mathematical reasoning and vocabulary to support your decision.
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Answer KEY

Measure of Central Tendency Review 

Part 1: Decide which would be the best measure of central tendency to represent the data and be ready to defend your answer.
1.  The best measure of central tendency to determine which dress size the owner needs to be sure to keep in stock at the store is____.    mode
2. The best measure of central tendency to determine the average salary of these 6 players from the perspective of the players’ agents would be____.

median
Part 2: Students rated the book they read as a class on a scale of 1 to 10, with 

1 being the lowest and 10 being the highest. 

Calculate the measures of central tendency and decide which measure of central tendency best describes the data set. Use mathematical reasoning and vocabulary to support your decision.

Mode: The mode is 8 because it appears the most.


Median:
  3  4  5  7  8  8


Since there are two numbers left in the middle find the mean of 
        the two values. 5 + 7 = 12. 12 ( 2 = 6.  The median is 6.

Mean:    3 + 4 + 5 + 7 + 8 + 8 = 35. 35 ( 6 = 5.8
The mean and the median are close in values. The best representation would probably be the median seeing it is a whole number and the ratings are done in whole numbers. Mode would not work for this data set because most students gave the rating of less than an 8.
